NOTES: MASK 1" DIA. AREA

1. MATERIAL: TRAY: 7 GA. SHEET STEEL .50 DIA. x .187 HIGH AROUND INDICATED
HOLD-DOWN AND BRACKETS: 11 GA SHEET STEEL POSITIONING DIMPLES 390 SQUARE HOLES
FINISH: EPOXY POWDER COAT ASA61GREY (12 REQ'D) (TYPICAL BOTH SIDES)

2. WELD AND GRIND REAR CORNERS.

3. MANUFACTURER SHALL SUPPLY THE FOLLOWING i \ 1

YELLOW ZINC CHROMATE HARDWARE (1 PACKAGE PER Hi ° ° ° B

TRAY): N N N L
ary DESCRIPTION il =

8 3/8-16x1.00 LONG ELEVATOR BOLTS £0 ¢ 550 = -
2 3/8-16x1.00 LONG HEX HEAD BOLTS VENTILATION =l >
10 3/8-16 NUTS = U U U i
8  3/8 FLAT WASHERS SLOTS ./ ° ° ° S
8  3/8 LOCK WASHERS (6 REQ'D) I/o o o L S o
~N M
L 3/8 GROUNDING WASHERS N ) X o | =
16 12-24x1/2 THREAD FORMING SCREWS = =
_ _
(-] (-] [-]
410 x .280 SLOTS IN ALL & 161
FLANGES (SPACED FOR BOTH 173 DIA.
EIA & WECo RELAY RACKS) (2 HOLES u%mﬁ_ﬁmo_mmrmm 23.12
PER FLANGE) SWITCH _ 22.31 _
. s — s SEE DETAIL A s T
<> @ () (]
2 2 A 2 390 x .905 SLOT ® 2
3 o 2 < 0.94 —= (2 PER FLANGE) ° ° 8
S ° e~ « : ® ® oo
W % 1 . . _ @ @
[c>] ® pr-= 11:=] - -+
o] ® |7 B B2 \m_ 2] B @8 __ T 2] 1 ) i ) |
— _..lo.g TYP I — \Jlao
<— 0.30 REF. (TYP)
1 =094 TYP 390 SQUARE
DETAIL > (22 HOLES)
CONFIDENTIAL/PROPRIETARY INFORMATION
m_>=-m STANDBY GPU
01/10/05 6 |SQUARE HOLES ADDED SCALE DRAWNBY ‘APPROVED BY
02/09/04 | 5 [CTR. CHAN. REMOVED, TRAY MODIFIED T0 7 GA P. DRISCOLL
10-05-03 & |CENTER CHANNEL AND DIMENSIONS ADDED TITE
ez |3 [amenwemon e So NG | RACK ASSEMBLY - TRAY FOR 23” RELAY RACK
10-31-01 2 | ADDED 16 THD FRM SCREWS TO NOTE 3 DATE DRAWING NUMBER REV.
emnun»ﬂuw L< MOVED .._o._u.."“wmnﬂ”._ u_w_.mm BY .185. ON \\_O \O b. _H_NW\_OO > m




